Ju Ching Chu Secondary School (Kwai Chung)

F. 6 Vocabulary Quiz – March 

(A Phrase A Day – February 2005)
1. The boy denied _____________ in the examination.

A. cheat   B. to cheat   C. cheating   D. cheated

2. Wilson is a hard-nosed businessman.

i. He is determined.  ii. He has practical judgment. 

iii. He is quick to take advantage of others.

A. i,ii   B. i, iii   C. ii, iii   D. i, ii, iii

3. The enemy had to withdraw before the onset of winter.

The word ‘onset’ can best be replaced by …
A. approach   B. attack   C. end    D. beginning

4. They are contending for the championship. The word ‘contending’ can best be replaced by …
A. struggling  B. competing   C. fighting   D. arguing

5. The official was accused of colluding with the businessman.

A. They had a secret agreement with the intention of cheating.

B. They promised to help each other.

C. The official did not carry out his duties.

D. The businessman accepted bribes.

6. Her work is rather ________ - sometimes it’s very good and sometimes it’s awful.

A. consistent   B. consistent with    C. inconsistent    D. inconsistent with

7. After three days, the hijackers surrendered to the police. 

The word ‘surrendered’ can best be replaced by …
A. yielded   B. gave   C. came up   D. confined

8. We want to further our studies, but John is dragging his heels.

A. He has made his decision.     

B. He has acted slowly and has not made a decision.

C. He does not want to make a rash decision.

D. He has no intention of furthering his studies. 

9. Relations with our neighours aren’t very _______ at the moment.

A. consistent   B. equivalent   C. overwhelming   D. harmonious

10. When she heard the news, she ____________.

A. burst to cry   B. burst crying   C. burst out crying    D. burst into crying

11. The chairman collided with the committee over his plans.

A. They argued fiercely.          B. They came into disagreement.

C. They did not want to cooperate.  D. The committee members had different interests. 

12. Some members of the committee expressed reservations about these proposals.

Some members of the committee

A. felt that the proposals were not good.   B. felt that the proposals were good.

C. had a feeling of doubt about whether the proposals were good.

D. were opposed to the proposals.

13. If he doesn’t stop working so hard, he’ll _________ himself _________.

A. burn…out   B. cut…off    C. blend…in    D. boost…up

14. His job was roughly _________ that of a department head.

A. equivalent to   B. consistent with   C. in collusion with   D. greeted with

15. An overwhelming majority of the members were against the idea.

‘An overwhelming majority’ means …
A. Many   B. Some   C. A large number of    D. All

16. She opted to go to Singapore rather than Bangkok. 

The words ‘opted to’ can best be replaced by …
A. chose to   B. decided to   C. planned to   D. was eager to

17. The new office block doesn’t blend in with its surroundings. 

The words ‘blend in’ can best be replaced by …
A. match perfectly       B. compare favourably   

C. conform largely to     D. mix harmoniously 

18. What tricks has she been _________?

A. opt to    B. equivalent to   C. up to   D. surrendering to

19. After the accident, her career had to be put on hold. 

The words ‘put on hold’ can best replaced by …
A. controlled   B. postponed    C. stopped    D. rearranged

20. Which of the following is CORRECT?

A. She has reservation about the proposals.

B. It goes saying that consumers would be happier if prices were lower.

C. A teacher should set good example to his students.

D. Everyone was talking at the top of their voices. 
21. The Law Reform Commission has suggested that the minimum age for marriage, without parental consent, should be lowered from _________.
    A. 18 to 17   B. 20 to 17   C. 21 to 18   D. 22 to 18

22. The Chief Secretary, _______ Tsang, was poised to take over as acting chief executive.
    A. Stephen    B. John      C.  Arthur       D. Donald

23. The Town Planning board has rejected Hopewell Holdings proposal to build Hong Kong 's biggest hotel in _________.
    A. Wanchai    B. Central    C. North Point     D. Mid Levels

24. Olympic gold medallist, Li Lai-shan’s baby is expected to be born in _______.
    A. summer 2005  B. autumn 2005  C. winter 2005   D. spring 2006

25. Rates for the Hong Kong 's Disneyland hotel rooms range between ____________.

    A. $1,000-$1,800   B. $1,500-$2,000   C. $2,000-$2,500   D. $1,800-$3,500
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Ju Ching Chu Secondary School (Kwai Chung)

F. 4 Vocabulary Quiz – March 

(A Phrase A Day – February 2005)
1. The boy denied _____________ in the examination.

A. cheat   B. to cheat   C. cheating  

2. Wilson is a hard-nosed businessman.

i. He is determined.  

ii. He has practical judgment. 

iii. He is quick to take advantage of others.

A. i,ii   B. i, iii   C. ii, iii  

3. The enemy had to withdraw before the onset of winter.

The word ‘onset’ can best be replaced by …
A. beginning   B. attack   C. approach 

4. They are contending for the championship. The word ‘contending’ can best be replaced by …
A. arguing  B. competing   C. fighting   

5. The official was accused of colluding with the businessman.

A. They had a secret agreement with the intention of cheating.

B. They promised to help each other.

C. The businessman accepted bribes.

6. Her work is rather ________ - sometimes it’s very good and sometimes it’s terrible.

A. consistent   B. consistent with    C. inconsistent   

7. After three days, the hijackers surrendered to the police. 

The word ‘surrendered’ can best be replaced by …
A. yielded   B. gave   C. came up   

8. We want to further our studies, but John is dragging his heels.

A. He has made his decision.     

B. He has acted slowly and has not made a decision.

C. He does not want to make a rash decision.

9. Relations with our neighours aren’t very _______ at the moment.

A. consistent   B. equivalent   C. harmonious

10. When she heard the news, she ____________.

A. burst to cry   B. burst out crying   C. burst into crying

11. The chairman collided with the committee over his plans.

A. They came into disagreement.     

B. They did not want to cooperate.  

C. The committee members had different interests. 

12. Some members of the committee expressed reservations about these proposals.

Some members of the committee

A. felt that the proposals were not good.   

B. felt that the proposals were good.

C. had a feeling of doubt about whether the proposals were good.

13. If he doesn’t stop working so hard, he’ll _________ himself _________.

A. burn…out   B. cut…off    C. blend…in    

14. His job was roughly _________ that of a department head.

A. equivalent to   B. consistent with   C. greeted with

15. An overwhelming majority of the members were against the idea.

‘An overwhelming majority’ means …
A. Many   B. Some   C. A large number of   

16. She opted to go to Singapore rather than Bangkok. 

The words ‘opted to’ can best be replaced by …
A. chose to  B. decided to   C. planned to   

17. The new office block doesn’t blend in with its surroundings. 

The words ‘blend in’ can best be replaced by …
A. mix harmoniously       

B. compare favourably   

C. conform largely to     

18. What tricks has she been _________?

A. opt to    B. equivalent to   C. up to   

19. After the accident, her career had to be put on hold. 

The words ‘put on hold’ can best replaced by …
A. rearranged   B. delayed    C. stopped   

2 0. Which of the following is CORRECT?

i. She has reservation about the proposals.

ii. It goes saying that consumers would be happier if prices were lower.

iii. A teacher should set good example to his students.

 A. i,ii    B. ii, iii    C. None
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